

Name: Rohim Dharwanu Cahyan

Dept: IKBS/MS

Matric no: 19111801887

Course: MKT 109

Assignment

1  $y - 8x - 2 > 0$  and  $9y + x + 9 > 0$

Let  $K = y - 8x - 2 > 0$

$$= \frac{dy}{dx} - 8 = 0 = 0$$

$$\Rightarrow \frac{dy}{dx} - 8 > 0$$

$$\frac{dy}{dx} > 8$$

Let  $B = 9y + x + 9 > 0$

$$9 \frac{dy}{dx} + 1 + 0 > 0$$

$$9 \frac{dy}{dx} + 1 > 0$$

$$\frac{dy}{dx} > -\frac{1}{9}$$

$K + B$

1.  $y - 2x - 2 > 0$  is perpendicular to  $9y + x + 9 > 0$

2  $9y - 4 > 2x + 3$  and  $y - 5 > x + 6$

Let  $K = 9y - 4 > 2x + 3$

$$9 \frac{dy}{dx} - 0 > 2 + 0$$

$$9 \frac{dy}{dx} > 2$$

$$\frac{dy}{dx} > \frac{2}{9}$$

Let  $B = y - 5 > x + 6$

$$\frac{dy}{dx} - 0 > 1 + 0$$

$$\frac{dy}{dx} > 1$$

$\therefore K \neq B$

1.  $9y - 4 > 2x + 3$  and  $y - 5 > x + 6$  is not perpendicular

$$3 \quad x^2 + y^2 + 3y - 14 = 0 \text{ at point } (1, 2)$$

$$2y + 2y \frac{dy}{dx} + 3(x + \frac{dy}{dx} + yx) - 0 = 0$$

$$2x + 2y \frac{dy}{dx} + 3x \frac{dy}{dx} + 3y = 0$$

$$\frac{dy}{dx} = \frac{-2x - 3y}{2y + 3x}$$

$$m = \frac{dy}{dx} = \frac{-(2x + 3y)}{2y + 3x}$$

when  $x = 1$  and  $y = 2$

when  $x = 1$  and  $y = 2$

$$m = \frac{-[2(1) + 3(2)]}{2(2) + 3(1)}$$

$$= \frac{-(2+6)}{4+3} = \frac{-8}{7}$$

$$m = \frac{-8}{7}$$

Equation of the tangent of a circle

$$y - y_1 = m(x - x_1)$$

$$y - 2 = -\frac{8}{7}(x - 1)$$

$$y - 2 = -\frac{8x}{7} + \frac{8}{7}$$

$$7y - 14 = -8x + 8$$

$$8x + 7y - 14 - 8 = 0$$

$$8x + 7y - 22 = 0$$

b Equation of the normal to the circle

$$y - y_1 = -\frac{1}{m}(x - x_1)$$

$$y - 2 = -1 / (-\frac{8}{7})(x - 1)$$

$$y - 2 = \frac{7}{8}(x - 1)$$

$$y - 2 = \frac{7x}{8} - \frac{7}{8}$$

$$7y - 16 = 7x - 7$$

$$7y = 7x - 7 + 16$$

$$7x - 8y + 9 = 0$$